BIC
10°

log[ Relative Probability ]

—100

Window Half—Width (km/s)

107

10°

50

10*

1000

rm588 2/(41 1738 —~5065)=0.978
F T | T | T | !
- ' B 463343 34 ABIC 0.000 AlogP 0.0000 ]
i X% 397862.31 Ax? 0.000 AlogP 0.0000 -
I
L —ABte —t9B3@e—gH — — —sosems i — — — — ]9
i Ax? —1983001 -575.8 X
I 4975 4975 5065 ]
A . , . ACs '. . ACSF . .
20 40 60 80 100 120
120 iterations
rm588 2/(41 1738 —5065)=0. 978
T | T | T |
i ' : BIC 463343.34 ABIC 0.000 AlogP 0.0000
I : ) 2 ]
_____________________ o _!_______x_39
L J |
I | !
I |
e . J. .............................................
I |
I | |
I | |
I 4975 | 4975 ,
I A AC
C , I , | I 2 I
20 40 60 80 100 120
120 iterations
Fe2 17% 634+93 km/s
rm588 BLR 6200 NLR 900 km/s
T | T | T | T | | H
: 1 BLR
NLR
Fell

120 iterations

kdh1 14—0ct-2021 15:44



